HUR(L) %5 — M T B

EENRABRERT BT TR BA

CHELIC PNEUMATIC

O A KEHEE |
B
|
i i
i
|
i
q
D ESEEES
=y =| £ = (mm) @25 @32 \ @40 \ 50 263
eI #wEX
FERREE BEIREZIELERE RSO - VG 68)
REEN kgflem’ (kpa) 100 (10000)
{EREENEE kgflem’ (kpa) 5~ 70 (500 ~ 7000)
EEE1TFE mm 9 1 13
TRE1TR2 mm 13 15 17
HIREME [
EEAE 90*2"
rd Lyl 8 (BARA)-L ; A8 (BAERARK) -R
CEER
3 18 @25 @32 @40 @50 263
BEE 13 1.7 2 3.2 5.1
C FI BTN

) - ( 2[5

) -GS - .

MF
l
[ 3 B8 4R B X | [ mamE | [ mEacre | [ BREK |

25 - @25 mm
32 - @32 mm
40 - @40 mm
50 - 50 mm
63 - 63 mm

R: RRAEEERN
(REAA)

%00 RIFENEEAE

%0y 455 60 BIESAERS

1TI2Z0R FETTIE
TR

@25 - 13 mm
@32 - 15 mm
@40 - 15 mm
@50 - 17 mm
@63 - 17 mm

3-11.21

SCR(L)
Heeg
BHFHL

HER
put:
BHFEL

HGR(L)
]
BT

HSR(L)
RE

F
¥/ TR E
(B E)

HBR(L)
R

A TR

(HREFERER)

HFR(L)
TE

¥/ TR E
(MBAERTE)

HUR(L)

JHEE
8 T REE

HUK
R
JER BT

HN[]
st
ELps

HS[]
g
D)=

HCF
L
LT

HCS
W
SEEEL

HCQ
R
SR
(iR



HUR(L) %5 — M T B
SMEREF R~

X
4-0L P 4-0L
K
J
Gl
F, N ‘ G2
‘ 1
i : H—T -
4 i | | ! ‘ !
E1 | | =
Lo P K /| 1 ,,,,,,, _ i)
v & ) 2
_ E2 ! - <
! < | b
2 ‘ m| < i o <
oM e
~ W ! q ‘ TN M o
8 !
| |
| < |
N1 Aj—j‘f oI
|
o] ‘ ]
| #E0] ~ o
\ 1
s | mammznry
- . . L = = HmRFFN x
@ | W@ | WerE | BEGE it ™) LA
(mm) (mm) (mm) BRI/ mm? | (3.5MPa) G1 G2
@25 218 9 13 491/ 237 830 74 140
@32 @20 11 15 804 / 490 1720 81 160
@40 ©22.4 11 15 1257 / 863 3020 86 160
@50 @28 13 17 1963 / 1347 4710 9% 180
263 @35 13 17 3117 / 2155 7540 114 200
AR ST A Al A2 | A3 B © D1 D2 D3 D4 E1l E2
@25 22 79 101 | (124) | 120 76 27 15 27 15 |19 | M10x15 | o8
@32 26 89 115 | (140) | 137.2 | 85 30 17 31 17 |022.2|M10x1.5 | o8
@40 26 94 120 | (148) | 1422 | 90 30 18 31 17 |022.2| M10x1.5 | @10
@50 30 104 | 134 | (166) | 159.4 | 100 34 20 37 19 |025.4 | M12x1.75 | @12
@63 30 109 | 139 | (175) | 170.8 | 105 34 23 48 24 |0131.8] M16x20 | @15
5 & F H | J K L M N |NL|N2|N3| O P | R | s T
@25 10 9 | @46 | 52 | 40 |@68| PT1/8 | 50 | 8 | 17 | 46 | 95 | 25 | @15 |@18 | 13
@32 10 | 10 | @50 | 56 | 44 |@6.8| PT1/8 | 55 | 10 | 19 | 52 | 111 | 29 | @17 |@20 | 14
@40 10 | 10 | @54 | 63 | 48 |@9 | PT1/8 | 60 | 12 | 19 | 57 | 111 | 31 | @19 |@22.4| 15
@50 12 | 12 | @66 | 72 | 57 |@9 | PT1/4 | 65 | 15 | 215 | 635 12.7 | 38 | @21 |@28 | 16
263 15 | 15 | @80 | 88 | 70 |@11 | PT1/4 | 75 | 17 | 22 | 68 | 159 | 48 | @27 |@35 | 18

3-11.22




HUR(L) #35 — HEBEATEI Gapimzs

SEEFRT

FRY Qrssy:It

CHELIC PNEUMATIC

C HUR(L) _M . D] 88 ERAR HUR(L) - MF ]
® mEza
E S x| o -
4-0L
K
J K
G1
_|F N G2
| i} | ;
| MJLJ\\ & 5 ‘ ,,f‘?,,, s
\ \ ! °
4 T : = | :
E1/ | |1 5 | \ Pl
L = N ! J
! < E2 ! 2
1 < ' -
| . | z
i < i
‘ o < ‘ m| <
ool s wlo o
S n i .
| ;u ORing *WR | ,LL&
2] ‘ i 1 4] ‘
| EE - a
T I
Ls_| mamimzgry
- - g L SRS RN
HE | W@ | maTE | BETE =i N ERRR
(mm) (mm) (mm) B2 / 5 mm?| (3.5MPa) G1 G2
@25 @18 9 13 491/237 830 74 140
@32 @20 11 15 804/490 1720 81 160
@40 @22.4 1 15 1257/863 3020 86 160
@50 @28 13 17 1963/1347 4710 96 180
@63 @35 13 17 3117/2155 7540 114 200
il ST A Al A2 A3 B c1 D1 D2 D3 D4 El E2 E3
@25 22 79 101 124 120 76 22 15 27 15 |19 [M10x15 | @8 |M14x15
@32 26 89 115 140 | 137.2 85 25 17 31 17 |D222 [M10x15 | @8 |[M16x1.5
@40 26 94 120 148 | 142.2 90 25 18 31 17 |0225 [M10x1.5 | @10 |M18x1.5
@50 30 104 134 166 | 159.4 | 100 30 20 37 19 |[025.4 [M12x1.75| @12 |M20x1.5
@63 30 109 139 175 | 1708 | 105 30 23 48 24 |[031.8 [M16x2.0 | @15 |M26x1.5
5 1& F Gl | G2 H I J K L |M1]| N O | O-Ring P R S T
@25 10 74 140 9 | @46 | 52 | 40 |@68| 19 | 50 | 95 P7 25 | @15 | @18 13
@32 10 81 160 | 10 | @50 | 56 | 44 | @68 | 21 | 55 | 11.1 P7 29 | @17 | @20 14
@40 10 86 160 | 10 | @54 | 63 | 48 | @9 23 | 60 | 11.1 P9 31 | @19 | @224 15
@50 12 96 180 | 12 | @66 | 72 | 57 | @9 28 | 65 | 127 P9 38 | @21 | @28 16
@63 15 | 114 | 200 | 15 | @80 | 88 | 70 | @11 | 32 | 75 | 159 P9 48 | @27 | @35 18

3-11.23

SCR(L)
Heeg
BHFHL

HER
wh
BHFEL

HGR(L)
]
BT

HSR(L)
R

F
¥/ TR E
(B E)

HBR(L)
R

A TR

(HREFERER)

HFR(L)
TE

B TR
(HREFERER)

HUR(L)
SR
[L V=N

HUK
R
JER BT

HN[]
st
ELps

HS[]
g
D)=

HCF
L
LT

HCS
W
SEEEL

HCQ
R
SR
(iR



—_— N aw s =E S
HUR(L) &5 — HEBEAT B (EmifsemBm®a )
" -
SMERER R~ R AR R ER 1
- ® mgzm
i i
N $/*\€}
SHCERCIEEER
= t‘i‘® !
=\ [$\KQE !
M1 4-@L © M1 4-@L
Z
K s
J
‘ Min.5
G1
F N ‘ ‘ G2
i | ;
| : o
' s 10 ™S = ‘ i1t po
\ | ° Eid
| | |
E1 | |1 % : \ Pl
| — [ L N 0 )
i i
i E2 i 2
‘ g g ! pr
| i | o <
5| @|| 5 th ‘ th o
MR il
L omng A L omng
7]} ‘ ‘ { o] ‘
o110 [ 3
| | 1 U+
S | BiBmiRL R
g . . e SEEE RSN 3
HE | wmE | wWeER | EEGE e ) EHRE
(mm) (mm) (mm) o mm? | (3.5MPa) G1 G2
@25 218 9 13 491/237 830 74 140
@32 @20 11 15 804/490 1720 81 160
@40 @22.4 11 15 1257/863 3020 86 160
@50 228 13 17 1963/1347 4710 96 180
263 @35 13 17 3117/2155 7540 114 200
il Y ST A Al A2 A3 B c1 D1 | D2 D3 D4 E1l E2 | E3
@25 22 79 101 124 120 76 22 15 27 15 [019 |[M10x15 | @8 |M14x15
@32 26 89 115 140 | 1372 | 85 25 17 31 17 |O222|M10x15 | @8 |[M16x1.5
@40 26 94 120 148 | 1422 | 90 25 18 31 17 | 0222 |M10x1.5 | @10 | M18x1.5
@50 30 104 134 166 | 159.4 | 100 30 20 37 19 | 0254 |M12x1.75| @12 | M20x1.5
@63 30 109 139 175 | 170.8 | 105 30 23 48 24 | [031.8|M16x2.0 | @15 | M26x1.5
5= F Gl | G2 | H I J K L | M1| N O | O-Ring P R S T
@25 10 74 | 140 | 9 | @46 | 52 | 40 | @68 | 19 | 50 | 95 P7 25 | @15 | @18 13
@32 10 81 | 160 | 10 | @50 | 56 | 44 |@6.8| 21 | 55 | 11.1 P7 29 | @17 | @20 14
40 10 86 160 10 @54 63 48 | @9 23 60 111 P9 31 219 | @22.4 15
@50 12 96 180 12 66 72 57 | @9 28 65 12.7 P9 38 @21 | @28 16
763 15 114 200 15 @80 88 70 | 911 32 75 15.9 P9 48 @27 | B35 18

3-11.24



	01.油壓轉角下壓缸-HUR(L)-3-11.21
	02.油壓轉角下壓缸-HUR(L)-3-11.22
	03.油壓轉角下壓缸-HUR(L)-3-11.23
	04.油壓轉角下壓缸-HUR(L)-3-11.24

